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General English

Section Id : 152536310



Section Number : 1

Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Id : 1525369387 Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No
Question Numbers : (1 to 5)

Directions (Q.No. 1 to 5) : Read the following passage and answer the questions that
follow.

Even when the government realises the importance of a plentiful supply of trees, it s difficult
for it to persuade the villager to see this. He wants wood to cook his food with; and he can
earn money by making charcoal or selling wood to the townsman. He is usually too lazy or
100 careless to plant and look after new trees. So. unless the government has a good
systemof control. or can educate the people. the forests slowly disappear.

Sub questions

Question Number : 1 Question Id : 1525369388 Display Question Number : Yes Is Question
Mandatory : No

The government finds it difficult to make the villager realise

Options :

1 » The mportance of food being cooked.

5 The value of trees

3 % The difficulty of cutting the forest

4 % The needs of the town dwellers



Question Number : 2 Question Id : 1525369389 Display Question Number : Yes Is Question
Mandatory : No
The villager makes charcoal
Options :
to brush the teeth

, x 1O help his neighbours

3 v 10 earn money

to pass the tune lavishly

Question Number : 3 Question Id : 1525369390 Display Question Number : Yes Is Question

Mandatory : No
The villager pays no heed to
Options :

rees

, % Charcoal

5 » broper cooking

neighbours

4, =



Question Number : 4 Question Id : 1525369391 Display Question Number : Yes Is Question
Mandatory : No

According to the passage the government should

Options :
ban making charcoal

punish the villager

3 % helps the townsmen

£ = C'. :|- .
4V regulate cutting down of trees

Question Number : 5 Question Id : 1525369392 Display Question Number : Yes Is Question
Mandatory : No

The synonym of the word “lazy’ 1s

Options:
Careful

5 Derelict

5, » Aftentive

4% Conscientious

Question Number : 6 Question Id : 1525369393 Display Question Number : Yes Is Question



Mandatory : No

The idiom “to fight tooth and nail” means
Options :

| » making every possible effort to win

, % 1O fight a loosing battle

to fight cowardly

to fight with a woman
4, %

Question Number : 7 Question Id : 1525369394 Display Question Number : Yes Is Question
Mandatory : No

[ saw aboy red hair. Fill in the blank with correct preposition.

Options :

Question Number : 8 Question Id : 1525369395 Display Question Number : Yes Is Question



Mandatory : No

An example for the Interrogative sentence is

Options :

He is a bad listener

What a surprise!

3 v When did you see him

Shunt the door

Question Number : 9 Question Id : 1525369396 Display Question Number : Yes Is Question
Mandatory : No

Pick out the most suitable word to complete the sentence.
is a person who walks is sleep.

Options :

| % Omuniscient

5 % Orientalist

Parasite

4 Sonmambulist



Question Number : 10 Question Id : 1525369397 Display Question Number : Yes Is Question
Mandatory : No

Fill in the blank with appropriate verb form.

I a letter a few mimutes ago.
Options :
- have received
5 o received
receive
will receive
4, %

Question Number : 11 Question Id : 1525369398 Display Question Number : Yes Is Question
Mandatory : No

Ramesh 18 an imgenious writer.
The meaning of the underlined word is

Options :

.« Door

mechanical

; » foolish

skillful

4. &



Question Number : 12 Question Id : 1525369399 Display Question Number : Yes Is Question
Mandatory : No

“When did you see him?” The sentence is
Options :

Interrogative

Imperative

Assertive

Exclamatory

Question Number : 13 Question Id : 1525369400 Display Question Number : Yes Is Question
Mandatory : No

‘Open the door”. The passive voice of the sentence is
Options :

The door be opened

Let the door be opened
2. %

The door was opened

The door is opened by someone
4, %



Question Number : 14 Question Id : 1525369401 Display Question Number : Yes Is Question
Mandatory : No

My mother always food for us.

Options :
Cook

is cooked

Cooking

Cooks

Question Number : 15 Question Id : 1525369402 Display Question Number : Yes Is Question
Mandatory : No

The teacher said, “What is you name?”. The reported speech of the sentence is

Options :

The teacher said that what my name is
1. %

The teacher asked me to tell my naime

The teacher asked me what my name was
3. ¢

The teacher enquired my name



Question Number : 16 Question Id : 1525369403 Display Question Number : Yes Is Question
Mandatory : No

If 1 you, I would not have committed this blunder.

Options :
was
1. %
are

were

4wis

Question Number : 17 Question Id : 1525369404 Display Question Number : Yes Is Question
Mandatory : No

If it rains, the game will be

Options:

Cancelling
1. %

Cancelled
2. %

3 % Cancels

Cancel



Question Number : 18 Question Id

Mandatory : No

What are you talking

Options:
o1
1. =
in
2. %
about
4 % upon

Question Number : 19 Question Id

Mandatory : No

: 1525369405 Display Question Number : Yes Is Question

? Fill in the blank.

: 1525369406 Display Question Number : Yes Is Question

He drove the car at sixty kilometers hour.

Options:

’I%ga

Question Number : 20 Question Id

: 1525369407 Display Question Number : Yes Is Question



Mandatory : No
Rama is cleverer than all other boys in the class. The positive degree statement of the
sentence s

Options :

No other boy in the class is as clever as Rama
1.4

Rama is the cleverest boy in the class

2. %

All other boys i the class are cleverer as Rama
3. %

No other boyin the class 1s cleverer than Rama
4. %

Question Number : 21 Question Id : 1525369408 Display Question Number : Yes Is Question
Mandatory : No

Identify the grammatically correct sentence.

Options :

One must love one’s parents

One must love his parents

Priya is more taller than her sister
3. %

She is my cousin sister
4. %



Question Number : 22 Question Id : 1525369409 Display Question Number : Yes Is Question
Mandatory : No

My mother goes to the Cinema Once 1n a blue moon. The underlined idiom means.

Options :

on a full moon day

an event that happens infrequently

2. %
L% OO the day of ellipse
once i a fortnight

Question Number : 23 Question Id : 1525369410 Display Question Number : Yes Is Question
Mandatory : No

The weather has been abominable all week.,

Options :

Pleasant

Cold

Hot

Unpleasant



Question Number : 24 Question Id : 1525369411 Display Question Number : Yes Is Question
Mandatory : No

My son was disobedient and so I punished him.
The simiple sentence for this sentence is
Options :

. » 1punished my son as he is very disobedient

My son received punishment and I found him disobedient
2. %

I punished my son for his disobedience
3.¥

My son’s punishment by me was due to his disobedient nature.
4. %

Question Number : 25 Question Id : 1525369412 Display Question Number : Yes Is Question
Mandatory : No

She met an accident. while she therod. Fill mthe blank.

Options :

had crossed

1S CI'OSSINE
2. % -

Was CI’DSSjllg
3.¢

4 » Crossed



General Knowledge

SectionId: 152536311
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 26 Question Id : 1525369413 Display Question Number : Yes Is Question
Mandatory : No

What 1s the full form of ABC as per the National Educational Policy-20207?
805 Jemgderso 2020 Herbo J H B D JBoHHw?
Options:

Academuc Basic Certificate

Doz DAGH IFPE S JHB2»

Ammmal Basic Certificate
DoNHBY T8 cs@.z:a N850

-

Annual Bank Certificate

L Q05888 g0l S J@daw

Academic Bank of Credit

Doer DAGH 2ol HBHE
4. .y [ )



Question Number : 27 Question Id : 1525369414 Display Question Number : Yes Is Question
Mandatory : No

The new name of ministry of Human Resources Development is
SR SRS ofRd Ho(8S, TP ETnk) SERES
Options:
Ministry of Higher Education
&3?6&5 A é:o@é; SR

1. %
Mimistry of Human Capital
SRR reRR oBS: oY
2. %
Mmustry of Education
- Doy oS T
Miunstry of Human Development
BDeRN @f,}aﬁe}& Do(HeEr =Y
4, % i *

Question Number : 28 Question Id : 1525369415 Display Question Number : Yes Is Question

Mandatory : No

Who among the following transformed the Shivaji and Ganapthi festivals into national
festivals?

Bod B A5 B2, Heaidds BT oK e o a8 drfyrth?

Options :

1.4



Bal Gangadhar Tilak

o0 KOs &o8

Veer Savarkar

DE ;%55
2. %
Swamu Dayananda Saraswathi
Yol alovhiinlela b elobel
3. A (=) L]
M G Rande
oo & BRG
4, %

Question Number : 29 Question Id : 1525369416 Display Question Number : Yes Is Question
Mandatory : No

‘Black Fungus’ 1s also called as
28 PoKR B @Y

Options :
Taemasis

Q5D
1. #

Mucor mycosis

S8 FoERT
2.

Cutaneous candidiasis

8R0S BobEaTLS
3. %



Blasto mycosis
2 DTS

e

Question Number : 30 Question Id : 1525369417 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is a Directive Principle relating to Education?

Bob0&® 58 DL Sowosodd eGBE Sr(go?

Options :

Article 40

40 35 xS
1. %

Article 42

42 &5 (D55
2. %

Article 45

45 3 P58
3.¢

Article 48
. 48 3 (PS8

Question Number : 31 Question Id : 1525369418 Display Question Number : Yes Is Question
Mandatory : No

Who 1s the author of * Anomalies in Law and Justice™?

“OmrndD 25 o wof '*v*"w Beiones a5%n?

Options :



Justice Ramana

=

53335 B3

1, %
Justice Raveendran
2235 8D D@SE
2. E
Ravi Sankar Prasad
50055 (SRS
3. %
Justice S. K. Kaul
238 095.3.8°5
4% ®

Question Number : 32 Question Id : 1525369419 Display Question Number : Yes Is Question
Mandatory : No

Which ofthe followmg Country is called as ‘Land of Midnight Sun’?
Bod 0&° D BeQ) “orof D NERT B85 ©R Denrdd?
Options :

Fmland

SRerol

Norway

— I'l
Ot

2. ¢ ®

Tceland

Doerod



Sudan

SR

Question Number : 33 Question Id : 1525369420 Display Question Number : Yes Is Question
Mandatory : No

Which of the following state had more than 90 percent of schools online facility?

20X BODS Q T @mé‘ 90 T e 8T eags TG0 Lod?

Options:
Gujarat
oaoeS

Uttar Pradesh
aEBHRS

Kerala
el

4, &

Question Number : 34 Question Id : 1525369421 Display Question Number : Yes Is Question
Mandatory : No
Joseph Robinette Biden is

2D 6838 368

Options :



45™ president of U.S.A
45 S c50.05%. OrH

46™ President of U.S.A
46 3 . 95D S

2. ¥
A47™ President of U.S.A
- 47 S 050.0%5R. o Slajyeviab

48™ President of U.S.A
. 48 3 00.05%. 2 Slafyevlas

Question Number : 35 Question Id : 1525369422 Display Question Number : Yes Is Question
Mandatory : No
The World Population Day is celebrated on

$58 Sod& 85w (Dol amrye HT7E)H50 PHT &0

Options :
10 July
10, =8
1. % .
1% July
11, 22=8
2.¥ =

3. %



14™ July

14, 2@

10™ December
10, &2oxmb

4, #

Question Number : 36 Question Id : 1525369423 Display Question Number : Yes Is Question

Mandatory : No

The Central Information Cominission is a

Zol8 S KBS
Options :
Constitutional Body

ngcﬁ PRt Y

Statutory Body

w = e £y
T o [

obn

2. ¥

Neither Constitutional or Statutory

-

T&";Dﬁ DG =), TS DG ==
3. %

Central Bureau of Investigation Body

Sol8 HB8%5S Dorrism
4. %

Question Number : 37 Question Id : 1525369424 Display Question Number : Yes Is Question

Mandatory : No



How many ‘Sustainable Development Goals’ were introduced i September 20157
?\3?5035, 2015 %ou & IR TEE @ﬁ)é&% ool (Hoardom?

1

Options :

;w08

16

17
3.¥

18

Question Number : 38 Question Id : 1525369425 Display Question Number : Yes Is Question
Mandatory : No

Which of the following disease is not caused by Bacteria?

Bod =& & 2008 o EBdir s8ein Soth?

Options:
Tuberculosis
e Shern
1. % o
Tetamms
Rabbies
28
ot D
3.



Plague

} L
o

Question Number : 39 Question Id : 1525369426 Display Question Number : Yes Is Question
Mandatory : No

Total mumber of medals won by India in Tokyo Olyinpics 2021
ﬁf‘&f 2.D02Ey 2021 & 88850 RDDY Sngo Sz vogy

Options :
5

Question Number : 40 Question Id : 1525369427 Display Question Number : Yes Is Question
Mandatory : No

Presently the new name of Telugu Academy of A.P.
colBEBE T (EKaso Benth eED Ew¥) B8 B
Options:

Sanskrit Academy

Vo0, S ©oetidD



Andhra Pradesh Telugu Academy
SoBHEE Beoih o=E

Telugu and Sanskrit Academy

Sl 0b8ddw» E&Dﬁ&ﬁ DlcaletAv
=2

Telugu and Sahitya Academy

Benlh o8k %E’?é& olestnt ¥

4, %

Teaching Aptitude
Section Id : 152536312
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 41 Question Id : 1525369428 Display Question Number : Yes Is Question
Mandatory : No

The main aim of teaching is to
5288 Tk (Hee8 B8

Options :

Give notes to the students

Sjm?fgafa E’Eé.i STl



Prepare the students to pass in the examinations
&m&?ﬁg@éo ﬁég_&:ﬁs ageﬁg@rﬁé@ &S TEodn

2. %

Prepare the students for jobs

&)m;iﬁg@?ﬁa ﬁﬁsérm: B8 SoirdTodots
3. %

Develop thinking ability in the students

Do’ udtSod2 @ﬁéé& S fovkel
4. ¢ ve = @

Question Number : 42 Question Id : 1525369429 Display Question Number : Yes Is Question

Mandatory : No

To reduce absenteeism in the class. the teacher.
EtetatrTaloaton oo fozedh Shotherd aarpydin

Options:

Should teach effectively

B8 Sodore S8omd
1.¢ <

Should ignore absenteeism
fioeesdof HBRBoSER SEo

Should punish students
Qoo E%‘_‘EJ& BEodto

=

Should mform parents

$DSohed BDcHEDE0
4, ®



Question Number : 43 Question Id : 1525369430 Display Question Number : Yes Is Question
Mandatory : No

Ifa student is quarrelsome in the class, the teacher should
= &)mﬁgg S8KEST ﬁ&;”r%u@% ﬁ%*m;&mﬁ:

Options :

Inform Police
SEDe% BOHEHIE%

Inform the head master
S Err ol BOSEDRITH

Gives suitable counseling

. o308 HBGEE Sool¥o TAHSBEH

Gives punishment
o8& 8805585

Question Number : 44 Question Id : 1525369431 Display Question Number : Yes Is Question
Mandatory : No

Apt learner is one who
FrerBS ©=B5HE JNBoE

Options :
listens mterestngly to the teachings of teachers

- aspeaines D) DRcEre (BEr DI



spends lot oftone in the hibrary
HSomredihod® VNS V&SI K& e

has questioning attitude
v (3808 588 eoarid

prepares well for the examination
$565% e BT
s} o]

Question Number : 45 Question Id : 1525369432 Display Question Number : Yes Is Question
Mandatory : No

The most appropriate meaning of learning is
©3rdT0E JBFE E-iéﬁaaﬁ:oéﬁ

Options :
Inculcation of knowledge

szl ?““..é)%

Modification of behaviour

(BB &=
2. ¢

Personal adjustment

sr8ne Stocmen
3.% % =

Acquisition of skills

e DEnarsd
[ o ;’h;
4. %



Question Number : 46 Question Id : 1525369433 Display Question Number : Yes Is Question
Mandatory : No

For which purpose achievement tests are commonly used?
TS uJE':"‘rs.:«ESJ FoSoT & aa@ 08 TEm%?
Options :

To make selections for a specific job
@’f@ﬂ’aﬁﬁ% ﬁrSE‘*rF“"E Jod¥ AchwrDl

1.%
To select candidates for different courses
D& ?"t”:o o o Eﬁ:)@.:%. D00 Toh=D8
2. %
To identify strengths and weaknesses of students.
. Do nero HBH peirdse 1Bo=RE
3. o
To identify the amount of learning
oifdae :%Po.am oBoUER8
4.

Question Number : 47 Question Id : 1525369434 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is the highest level of cognitive ability?
So2oB TEE” DB ARSI ErERE FHYEn?
Options :
Knowing

- BeonESd



Understanding

@gm AP bIZR V1N
2. ®

Analyzing
DERoH

Evaluatmg

Soorerro X850
4. =

Question Number : 48 Question Id : 1525369435 Display Question Number : Yes Is Question
Mandatory : No

A good teacher is one who
X DS aFErcing Q5808

Options:
gives useful mformation
SHErN L0 L STl ab.m =8

explains basic concepts to students
STEE rddey DEBodhTd

2. ®
gives printed notes to students
- &)w*éz@ o)) wond & 1..:::.1%3 BT

mspires smdents* to learn

e s ) ww*&m«“m ﬁﬁaﬂaaé Fopl Ay
4.« -



Question Number : 49 Question Id : 1525369436 Display Question Number : Yes Is Question
Mandatory : No

"‘Operation Black Board’ is concerned with

‘SHoRD L:Eﬁﬁg‘ 528 Yonodolsd.
Options :

Pre - Primary Education
Tl el D

L&

1. %
Primary Education
8L O

2. ¥
Secondary Education
Syl Qe

3. W’ =) o
Higher Education
aHE D

4. % i

Question Number : 50 Question Id : 1525369437 Display Question Number : Yes Is Question
Mandatory : No

Ifarequired teaching aid is not available in your school then what you will do?
LSS T UL H FbTes® T8 A3 TxH?
Options :
Inform the students about the non- availability of the aid
Depie FETHESn0 BER BO S

1. ®

2. ¢



Bring the aid from nearby school
BEE° e S8Tetrol FPETFHESmER) B

Ask the headmaster to purchase the aid

ST DL FBD (BT rrcind) ofibes

3. -

Give the oral description of the aid

SPETHE8msn $HB0d STHLormr OSBF
4. %

Physics

Section Id : 152536313
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 51 Question Id : 1525369438 Display Question Number : Yes Is Question
Mandatory : No

If the curl ofa vector field F is

2% 567 F@o F @n¥) 88 8o wond

Options :



F istotational
F o538 e $=do

F is irTotational

F o6 (gdom 8o

2.

F 1s compressible

F o386 $oboss
3. %

F isnot compressible

F ©38 @ﬁm%ﬁ;@ﬁ&
4, %

Question Number : 52 Question Id : 1525369439 Display Question Number : Yes Is Question
Mandatory : No

An example for a vector field

RDBT° g$sndh aweirden

Options :
Heat field

,_/ -
& 5630

gPA
s,

1. %

Temperature field
&8 TS50



Gravitational field

oS F 8o
Potential field
€ e
4. %

Question Number : 53 Question Id : 1525369440 Display Question Number : Yes Is Question
Mandatory : No

The weight of one gram of mass is Newton
X (i (BX0°8 o) e8sm Sreeled®

Options :

9.8%x107*

1. &

98x107*

980x10~*

9800x107*
4, %

Question Number : 54 Question Id : 1525369441 Display Question Number : Yes Is Question
Mandatory : No

The following equation represents the Keplers second law of planetary motion (A=Area)
BobarlE’ (imrighe 356 Botk AubseR) 80D $hEdnin (A=Prein)



Options :

d.n:i.t C
= (Constant
dt

dA _ sl
dt ¢
1. %
d*4
>— = Constant
dt®
d>4
= B30
dt” -
2. %
dA
ise O
dt
3. %
dA
=3
dt
4, %

Question Number : 55 Question Id : 1525369442 Display Question Number : Yes Is Question
Mandatory : No

The particles used in Rutherford scattering expertiment are
ErEEEE HBZHe (BErHEnS® S8EFA0NS Lemes

Options :



[ — particles

[ —Eemen
1. %

Y — rays

¥ —Eegeen
2. %

o — particles

o — Eearen
3.v

Cosmic rays

D& Edearen
4.%

Question Number : 56 Question Id : 1525369443 Display Question Number : Yes Is Question

Mandatory : No
In the Michelson-Morley experiment the following concept was discarded

DESES-3rG (PR Bod Q) 88 Pod.

Options :

The concept of rotation of the earth
ar|gisheo on PSS

1. %

The concept of vacuum

T
é:ﬁ?ﬁn:_o O N0
2. %

3. %



The concept of velocity of light

=eo8 SRS O RS

The concept of ether

&858 o3 58
4.v

Question Number : 57 Question Id : 1525369444 Display Question Number : Yes Is Question
Mandatory : No

The relation among Young’s modulus Y, Rigidity modulus ‘7 *and Bulk modulus ‘K’ is

choh Hedsm Y CSE}CSE" sk’ " bk ‘&E@ Hosn K o iy Sowoliin

Options :
f oYn
in+Y
1. %
¥ - InkK
3in+K
2. %
¥ — 9nK
3K+n
3. ¢
e OYK
SR A4Y



Question Number : 58 Question Id : 1525369445 Display Question Number
Mandatory : No

The time period of compound pendulum about its centre of mass is
&te¥o (ot e ZolBo DBorr eS58S esn

Options :

2 seconds

2 m¥Soen

1 second

1 Do
2. %

Zero

%‘iﬂﬁ‘)&&’m
3, %

Infinity

oRo&5n
4,

Question Number : 59 Question Id : 1525369446 Display Question Number
Mandatory : No

The time periods of two S.H.Ms arem the ratio 1 ; 2. then the ratio of their frequencies is in theratio

Soth 98¢ SFregl durre Fordsicow |1 R986° aditnd =8 F8dme 8

o

@2

Options :

I:2

-2
[—

: Yes Is Question

: Yes Is Question



Question Number : 60 Question Id : 1525369447 Display Question Number : Yes Is Question
Mandatory : No

The path of centre of mass of a projected bomb after explosion is

-

(&80 TR zroxn ARF L0 Somd ol (55,08 TolE Krdo

Options :

Straight line
B8 T

Parabola

Sorsecho

Hyperbola

OHITTHOC00

Question Number : 61 Question Id : 1525369448 Display Question Number : Yes Is Question
Mandatory : No



In the Fourier analysis of a square wave, the value of the coefficient A_is

S8 S0k rBGH DFhes® A thm¥o denis

Options :
0
1.4
Amplitude
2

2
2. %
Amplitude
A
Xods HB&ns
3. % L
1
4. %

Question Number : 62 Question Id : 1525369449 Display Question Number : Yes Is Question
Mandatory : No

The following is not the law of transverse waves mstretched string

(f =1 frequency. T=Tension, m=mass, # =linear density/=resonating length)
BobiarRE® RS 66" 645 S0 Rabioin =06

(f = &R, T= 858, m= (5508, u =3 088, | = wdms FED)

Options :

1. %



‘u-.,h)
S
Ty |

1
o —
e VM

Question Number : 63 Question Id : 1525369450 Display Question Number : Yes Is Question
Mandatory : No

The velocity ofsound wave i steel in kny's is
(Young's modulus for steel=2 x 10" N/ Density of steel =7225 l«:g;f’uzt3 )
ﬁfa;é‘; & 880k S50 km/s o8

(&%) abofi o Y=2x10" Nim’, ) Srolgs = 7225 ke/m)

Options:
26.6

1. %

1.66

3. %

4.+



16.6

Question Number : 64 Question Id : 1525369451 Display Question Number : Yes Is Question
Mandatory : No

Magnetostriction method is used to produce
ochFod Adrdn SE8E° HER e T=H.

Options:

Infirasonic

D8 |Beamre
=

UV rays
UV &8ceeen

X -rays

X - B8cgeen

Ultrasonics
@Eé;ﬁ:w

Question Number : 65 Question Id : 1525369452 Display Question Number : Yes Is Question
Mandatory : No

The deviation produced by a lens is proportional to
2% B0¥o DB Dlodin HVE oS FEHTE0S® aotnod.

Options :



Focal length

S tvpeliiatvy
1. %
|
Focal length
1
Eﬁﬁoéiﬁeﬁw
2. ¢
Height
o
3. %
i
(Focal length)~
2
(rorrossdsm )"
4, % -

Question Number : 66 Question Id : 1525369453 Display Question Number : Yes Is Question
Mandatory : No

Inthe interference pattern, fringe width s ( }, =wave length, D = distance of sources to the screen,
d = distance between the coherent sources)

860 prodt 96 ey (1= Sorl B, D = 368,
d= Ei}omcg 508 el D drdo)

4

08 alselh itirdo

Options:
AD
d

1.4



Question Number : 67 Question Id : 1525369454 Display Question Number : Yes Is Question
Mandatory : No

The second postulate of special theory of relativity is

(BPBE Falce Dorodo Bold (PaFESS
o -l [

Options:

Velocity of light is nfinity m vacuum

é:“-ﬁ-a': FHrd¥od® sros TS oo
1. ®

Velocity of light 1s zero in vacuum
&y FrB%0S® rod Biisw Eoerein
2. %

Velocity of light is constant i vacuum
Sy S od® crod Fiidn S
3.¢



Velocity of light 1s constant in a medium

2.X GimsEos® os TS E&m

L]

Question Number : 68 Question Id : 1525369455 Display Question Number : Yes Is Question
Mandatory : No
Rayleigh’s criterion is related to

o3 DoE 688 Somobolldd

Options :
Resolving power
@ﬁﬁ:ﬁﬁe&fm
1.4
Dispersive power
Tshee APSsEm
= =
2. %
Refraction mdex
SBLSN HoeeXsdn
3. %
Power ofa lens
Leo¥ Fsodrsin
4, ® -

Question Number : 69 Question Id : 1525369456 Display Question Number : Yes Is Question
Mandatory : No



The number ofhalf period zones in a hole of radius 0.5 cm with reference to a point at 100 cm for
the wavelength of 5000 A% s

100 cm &m80¢® Ke Dot d8ore S000A° ééoﬁ@%m&é% 0.5 cmami=do Ko SolBol® 28

@grw Soliee Jogr

Options :

h
o=

4.v

Question Number : 70 Question Id : 1525369457 Display Question Number : Yes Is Question
Mandatory : No

A spring mass system has mass 0.1 kg and its spring constant is 10 N/m then its period of
oscillation is
28 [R)oh-{ihoed ik, (5508 0.1 ke b od o derofo 10 Nimeans o)

o ] o = 3

&%@aﬂ{agé O

Options :

0.314 sec

0.628 sec
2. ¥

3. %



0.157 sec

Question Number : 71 Question Id : 1525369458 Display Question Number : Yes Is Question
Mandatory : No

The function which is not periodic in the following
(“t” is a variable and T is mininum constant)

(EobTRE® ©itto == (Habako

(‘t’ S8=8 08asm T 5%‘%1 %moﬁo]
Options :
f(t+T)
cos of
2. %
log x
3. ¥
sin of
4. %

Question Number : 72 Question Id : 1525369459 Display Question Number : Yes Is Question
Mandatory : No



The following is a chromatic aberration

BobarRS® 58 DBHEEH

Options :
Distortion
Ty
g.].,é)ﬁ
1. %

Coloured images of white object

Bl S0 dorve (Hédowren
2. ¢

Yellow mmage of yellow object

w

0%y 85508 CB.L"“* D0y (H&domo
3. %

Curvature of field

3 (K
4, %

Question Number : 73 Question Id : 1525369460 Display Question Number : Yes Is Question
Mandatory : No

Maxwell-Boltzmann’s law is related to the following

SrEN3E - ﬁe_}:mm Qoo Bod =08 Sonohollds.
CB

Options :
Molecular weights
©Ee0 ZTTED

1. %



Molecular densities

Slovhvilel[ntitsy

Molecular pressures

e STeen

Molecular speeds

EOER0 SurTPe
4, &

Question Number : 74 Question Id : 1525369461 Display Question Number : Yes Is Question
Mandatory : No

The ST unit of entropy is
dol&’s SIHSreasin
Options :

Joule / Kelvin

&S [ 2O
1. &

Joule - Kelvin

-
S — B EJ;E

e

Kelvin/ Joule

. TOf /&6

Joule - Kelvin®



Question Number : 75 Question Id : 1525369462 Display Question Number : Yes Is Question
Mandatory : No

In the phase change on reflection from a denser medium, the change in the phase angle s
FPoli88 oirbo Kol oo Se¥ Kwndo 6 Se b drdp

Options :

135°

90°

180°

Question Number : 76 Question Id : 1525369463 Display Question Number : Yes Is Question
Mandatory : No

At Brewster’s angle, the angle between refracted and reflected rays is

4

@58 oo 58 HE5HS Sk PGS e gy B

Options :

180°

90°



Question Number : 77 Question Id : 1525369464 Display Question Number : Yes Is Question
Mandatory : No

The central force is a
Soldah pwo ©I8
Options:

conservative force

Py A Ay
Qé&rds oo
{5 R v

Non-conservative force

©&&é neo
Lat B« )

2_ 4
Frictional force
o8 e weo

3, % :
Pseudo force
&t;:'-; DO

4, ®

Question Number : 78 Question Id : 1525369465 Display Question Number : Yes Is Question
Mandatory : No



In the following, the unit of solar constant is
(BotQ&® Y Jorolsn (B5mein

Options:

s 3
T /mmte

- )
T /20" D80v0”
1. %
. S
J—1m /e
= 2 3
FS-& " Rodsm
2. #
2 ;
J —1111-’11111111:&3‘:l
, X
S - H R He”
3 %
X
Jm©/mmute
3
TS/ R0
4. &

Question Number : 79 Question Id : 1525369466 Display Question Number : Yes Is Question
Mandatory : No

The electric potential mside a charged sphere is

¥ 8388 Ao %o DEnE 45w
L

Options :
0
oo

1. %

2.



changes

Srsseo0d

Question Number : 80 Question Id : 1525369467 Display Question Number : Yes Is Question
Mandatory : No

The STunit of electric polarization in the following
Bobd =R&* D&y E &sSeeo ¥ ST (Hreeo
Options :

7
m~ —coulomb

.
- o —Zmenod

i) D
coulomb™/my”

Eav@.:cocngébz

|
coulomb/m™

,
Xmenod/Sn”
3.¢

coulomb®/m

T om
Xrenod /o
4. %



Question Number : 81 Question Id : 1525369468 Display Question Number : Yes Is Question
Mandatory : No

The following is not the application of Hall effect.

2

Bod =RE° HS (Hrro ensddo =08

Options :

Thermal conductivity ofmetals can be determined
&ke ﬁ'{;@"ﬂ"ﬁé@ Q¥onod &k

1.¢
mobility of charge carriers can be estimated
. ©ad Tirse S Sedk @E&Dﬁﬁérﬁgw
2. -

concentration of charge carriers can be determmed
058 TIrTe Fo[B8 LTRSS

3. %
sign of charge carriers can be determined
wnd Tiroe ) X85

4. % - -

Question Number : 82 Question Id : 1525369469 Display Question Number : Yes Is Question
Mandatory : No

The energy stored ma solenoid per unit volume is (H=Magnetizing field, 1, =permeabulity of
free space)
8 SFDmand (Hrn HXI0srnne’ der o) 4

(H=edbirpésn @, )= %;@oéw%‘- 534 8od)

Options :



2
1. %

Lhg

2
2. %

1H

2 Uy
3. %

— 1H?

5 £
4.9

Question Number : 83 Question Id : 1525369470 Display Question Number : Yes Is Question
Mandatory : No

The alternating current flowing through a pure inductor is called
2% 83 [B8% Sochos® (55608 2zrodd dErE & dorr votrds.

Options :
displacement current
55?:‘6@‘:::%' Eafaviy

1. %
wattles current
TSm QBrE

2.V =



mduced current
(28 DS

current density

DErS Fro|BE
4, % -

Question Number : 84 Question Id : 1525369471 Display Question Number : Yes Is Question
Mandatory : No

If 7 is current density. then for steady state currents

J o386 d&xS Jolis wond, el 18 Dee
&

Options :

Vj#0

Question Number : 85 Question Id : 1525369472 Display Question Number : Yes Is Question
Mandatory : No



If E and B are electric and magnetic fields respectively then the correct one i the following
for vacuum is

ey
g"’\
oo
gr\
= N1
S
PR
2
A
29

S DS Bk edbined Feve eank &riy dirbeRl (Bod A6

Question Number : 86 Question Id : 1525369473 Display Question Number : Yes Is Question
Mandatory : No

The efficiency of n half wave rectifier is
©f ol DEHTIB KES

Options :

20.6%

1. %

40.6%
2. ¢

81.2%



Question Number : 87 Question Id : 1525369474 Display Question Number : Yes Is Question
Mandatory : No

The temperature increases the reverse saturation current in a diode
S8fKS 2BA% ETrEE® 88° Ko DES

o
=

Options :
Increases
FolablgvlCrlala)
1.9
Decreases
SEohod
2. % P
Remams constant
DBOTT S0Lnod
3. % 3
Becomes zero
réjwzééo ©I&ob
4, %

Question Number : 88 Question Id : 1525369475 Display Question Number : Yes Is Question
Mandatory : No

A NOR logic gate function is same as

2.€ NOR &8 o= (Eod o= 5B H0TX086.

Options :



Reverse of OR logic gate

OR &8 =80 Zr&t¥o
1. "‘3'.-'/") et Ghad (=

Reverse of AND logic gate

AND éeﬁ; w;fﬁo aﬁ;@éﬁo
2. ®

Reverse of NAND logic gate

NAND éeﬁ; =80 Sr&to
3. i@ B o

Reverse of XOR logic gate

. XOR 8% oo 8550
4. &

Question Number : 89 Question Id : 1525369476 Display Question Number : Yes Is Question
Mandatory : No

As per the quantum principles. spin angular momentum is given by
ot &rgre egrborr, R Sy low 8% 3Ry (Bod ore (e
Options :
sh

2
1. %

h
27s

-\|I|.S'(S+1).i

3 v 2



Question Number : 90 Question Id

Mandatory : No

: 1525369477 Display Question Number : Yes Is Question

If ‘e’ and ‘m’ are charge and mass of electron respectively then the ratio of magnetic moment

to the orbital angular momentum s

20l 6o B [Broen $8 ‘e’ 8k ‘M’ won wddirod (FeRE, dEiEdh

[

(835 IreRE e 8
Options :
e
m
2e
m
2. %
n
e
3. %
e
2m
4. &

Question Number : 91 Question Id

Mandatory : No

: 1525369478 Display Question Number : Yes Is Question



At absolute zero temperature. the relation between the specific heats €', and C,, is

N hoy ﬁaﬁ[ﬁé o &%s’g&gw ('p 8ok C, © ot Somogin

Options :

('P = Cv
1. %

(F‘: Cv
2. ¢

CP —Cv=R
3. %

& witl =R
4, %

Question Number : 92 Question Id : 1525369479 Display Question Number : Yes Is Question
Mandatory : No

The following is not the application of ultrasonics
Boba0&" 088 e eHd8se =08.
Options :

Cavity detection

Aoy Ehmrod
1.

Tumors removal

s Soden Sohoihéd

3. %



For signaling

SoZore ER85 andGrRothe

Photography in fog
5P S0he® Phefen & cind

Question Number : 93 Question Id : 1525369480 Display Question Number : Yes Is Question
Mandatory : No

Ifthe wave functions v, and v, represent two allowed states of a system then permussible wave
fonction ofthe system s

Soff (Paciren yy B v, e SR @) efodsod Botd %é:@é: e (Bod 06

& R efibdont S8of Hehdho
)

Options :
Vo
V1
1. %
o
5 % WV
Vi £V,
3.¢
¥i-¥7
4. %

Question Number : 94 Question Id : 1525369481 Display Question Number : Yes Is Question



Mandatory : No

The velocity quantum mechanical operator i the following is

BobaQ&® Siisn Sk S o0 airo(@E BB(Ea%h

Options :
—ih
m
1. %
~ihV
2. %
o
T
—."ﬁT
ot
3. %
—ihV
4. m

Question Number : 95 Question Id : 1525369482 Display Question Number : Yes Is Question
Mandatory : No

In a chlorine nucleus 17C1 35 the number of neutrons is

fifr

,ﬁﬁﬁ ZoB¥%o 17CI &° 53“5{_&3‘5& Sogys

Options :

18
1.¢

17
2. %



ad
N

[a—
Lh

4, %

Question Number : 96 Question Id : 1525369483 Display Question Number : Yes Is Question
Mandatory : No

Ifa charged particle is moving in a magnetic field at an angle less than 90° then its path is

; B E ; "
2.8 w88 Ko wdbamos FEod® 90" 0 ol 8% E*o6® S0 40f, od pele
/

’
—

Options:
Parabola
SoeSHedho
1. %
Helical path
R0 w==to
2. ¥
Crrcular
RT=oo
3. %
Straight line
PCaTal
4, %

Question Number : 97 Question Id : 1525369484 Display Question Number : Yes Is Question
Mandatory : No



According to Gamima'’s theory

e ?m;oéo (=80

Options :
o — particle never comes out from the nucleus

SolBi¥o o o —¥mo AHEE pehHLd Tt

o — particle does not exist

o —%m0 a8 %
2. ®

o —particle exists as such in the nucleus
o —¥%o0 oo’ achud oo¥ S0od ©8 &S dotwod
bl
3.¢¥

o — particles have zero rest mass
o —Zred Doeid (Ko Srisn

Question Number : 98 Question Id : 1525369485 Display Question Number : Yes Is Question
Mandatory : No

In a simple cubic lattice, the ratio of mtercepts on the three axes by (1,2,3) plane is

. Sreedie 8 $)8%08° (1.2.3) deo S0l &rth egep polew Rig

Options :
b.322

1.¢

, % 3:6:2
154:2



Question Number : 99 Question Id : 1525369486 Display Question Number : Yes Is Question
Mandatory : No

The term “cooper pair’ is related to

Erb owd ox Ho |Bod TEE Sonodolsd.
Options :

thermal conductivity

B T EESn
1.8 ©
radio activity
BETe TS
2. %
optical activity
&y B
3. %
super conductivity
OETTFES
4.

Question Number : 100 Question Id : 1525369487 Display Question Number : Yes Is Question
Mandatory : No



If 11, and &, are permeability and permutivity of free space respectively then the velocity of light is
given by

?Za;a?\,oéév%%"g) 28808 DBk BB EADe BOIT ) HOA &) Lo o8 30
Options :

Hy Sg

Hy =g

|
vV Ho =0
3.¢
Ho =0
4. ®
Chemistry
Section Id : 152536314
Section Number : 5
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
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Question Number : 101 Question Id : 1525369488 Display Question Number : Yes Is Question



Mandatory : No

When ethyl lithivm reacts with formaldehyde the product formed is
536 D808 FromdTrl S8 TolKENpn DEO%E

Options :
propanaldehyde

(5036
1. % -

tertiary butanol

éﬂji‘ad‘c 2SS
2. %

1 - propanol

n- (BPHSS
3.¥

Isopropanol

OB EPSSS
4. %

Question Number : 102 Question Id : 1525369489 Display Question Number : Yes Is Question
Mandatory : No

Which 1s an amphoteric oxide?
Brdrers eB(H D62
Gt Qi e ]
Options :

ZnQ
1. ¢

Na,O



S0,

B,0;

Question Number : 103 Question Id : 1525369490 Display Question Number : Yes Is Question
Mandatory : No

In Diborane
B35S Kotk
Options :

There 1s direct B - B bond
8% B - Boofn a6

The B - H bonds are ionic

B - Hzog&ner ocirdEZdd
2. F

It 1s 1sostiucture of ethane

%55 Sof v Qoyeesis &

Boron atoms are linked through hydrogen bridges

oS H8Ermmen ?@EE 86 o 20f0EnD
4,

Question Number : 104 Question Id : 1525369491 Display Question Number : Yes Is Question



Mandatory : No
Homolytic fission of C - C bond in ethane gives an intermediate m which carbon is
&35 60 C - Cootiin S509)8 S8 )8 Srblind™ 8)i
Options :
sp - hybridised

Sp - SoXoEBmen

1.%

spz - hybridised

Sp~ - So%bES
2. ¢

593 - hybridised

5p - $0%6% e
3. %

spsd - hybridised

spd - $0EE%BeEm
4. %

Question Number : 105 Question Id : 1525369492 Display Question Number : Yes Is Question
Mandatory : No

Anti-Markonikoff’s addition reaction of HBr is not observed i
HBr G (36 &8 R5% Sofei $58 S0t @Eém 5.

Options:
But -2 -ene

ot - 2 - &
.v



But-1-ene
:::m;é’f -1-&5

Propene
&85

pent - 1 ene

20t5 -1 -%5

4, %

Question Number : 106 Question Id : 1525369493 Display Question Number : Yes Is Question
Mandatory : No

Which of the following essential amino acids is not synthesized by the body?
Bod 86 Soari O oS ein Birdn Soth Soirdhonith?

Options :

Arginine

A=
- '&-‘EE{\.-

Glutamine

oSS
2. ® .

Histidine

—Whe
e naCand
'Eq.:'-—

3.¢



Prolne
@‘5@5

4, =

Question Number : 107 Question Id : 1525369494 Display Question Number : Yes Is Question
Mandatory : No

The ozonolysis of orthoxylene forms
*ROSH £.5°0%8m0 rRoDS DS

@b

[&c)

Options :
Glyoxal
Gl
1. % i
Methyl glvoxal
2pd fir=sS
2. % =
Dimethyl glyoxal
B03S oS
3. % ~ =
All these
@i
4. &

Question Number : 108 Question Id : 1525369495 Display Question Number : Yes Is Question
Mandatory : No

Bragg’s reflection can occur only for

=Ny HoeSEsS» % SrlED (08 Ze

Tl

Options:



Question Number : 109 Question Id : 1525369496 Display Question Number : Yes Is Question
Mandatory : No

Furan reacts with maleic anhydride to give

E{;F;m}i_*é{’ SrDont o3 Eh SETob aiy®d

Options:
H
C.‘D\
O
co”
1.¢ H
H
/C O\
| o 0
NCOS
2. % H



Question Number : 110 Question Id : 1525369497 Display Question Number : Yes Is Question
Mandatory : No

The solution which show positive or negative deviation from Roult’s law are called

T Aok $od ebdre T (H6%re el KON oot el lelule)]

Options :

Ideal solution
@ESESZ} [esSeasin

Non ideal solution

OTRY) (FrSeasin
2. &

Colloidal solution

eplotedenisulllaphloctvvy



Tiue sohition
TIDE (rideasim
4, %

Question Number : 111 Question Id : 1525369498 Display Question Number : Yes Is Question
Mandatory : No

6 gmofurea is dissolved m 90 gm of boiling water. The vapour pressure of the solution is

6 [rsme dheBosEd 90 (riine 61 DEE° LBRoknbes. © [Ednin m) bEs

Options :

761 mm

761 So.&s.

760 mm
760 £5.80.

744 .8 mm
744.8 ..

758 mm

758 Q3. 8.
4, %

Question Number : 112 Question Id : 1525369499 Display Question Number : Yes Is Question
Mandatory : No

The rate of diffusion of particles in colloid is

o

ooy @émméﬁ Lere 7008 DAS
[



Options :

equal in true solution

Qe (el Ksoiw

1. %
Rapid than in true solution
Qa: (e D8 Bz
2. %
Slower than in true solution
R ([EerRE0l I BRe
3.¢
Slower than in suspension
odHeondsn Kol SN o)
4, %

Question Number : 113 Question Id : 1525369500 Display Question Number : Yes Is Question
Mandatory : No

The paramagnetic nature of oxygen is best explained by

edjus @o¥) 00 ochIed Srrdind e &%&560&3&@}
Options :

Valency bond theory

S mod hrrossn

o =

1. %

Molecular orbital theory

v udd drroddn
2. i



Valency shell electron pai repulsion theory

ST ~Fon do(TEe wot DESHm brrdsn
% & S~

T

Hybridization

DoXBEBsn
4. %

Question Number : 114 Question Id : 1525369501 Display Question Number : Yes Is Question
Mandatory : No

Which one ofthe following is the most stable conformer?

Bod &S BUE wb¥ ?éégﬁw_‘éﬁﬁw Een®?

Options :
'C.‘H3
H OH
H OH
CH5
1.
C‘H3
OH H
H OH
CH
2, ® A



CH

H C‘Ha
H OH
CH 3
CH ;
H CH,
H 1B H%
OH

Question Number : 115 Question Id : 1525369502 Display Question Number : Yes Is Question
Mandatory : No

The formation of coloured ions by transition metals is due to

$BIYES S ben Borh woiry BB H03.
Options:

Formation of Interstial compounds

BTOETE Ve e 28)Bthe
] O

Completely filled ‘s’ and *d’ orbitals
B Dodnbd *s” SHdahn ‘d’ e@f)rey
2. %



Completely filled “d” orbitals
B Rodads ‘d’ e)erdy

Incompletely filled *d’ orbatals

wdor8r Qodndd ‘d EQ&&F@
4.«

Question Number : 116 Question Id : 1525369503 Display Question Number : Yes Is Question
Mandatory : No

The energy gap between conduction band and valence band is large in
g 5§ HBkn el Hhe Sy $8 wodtin Kok .

Options:

conductors
T EnSt

semiconductors
DlaTosbuiopy
o

Insulators

oSEsnen
3.

Doped semiconductors
EHRHnES ofrirtm



Question Number : 117 Question Id : 1525369504 Display Question Number : Yes Is Question
Mandatory : No

Which one ofthe following is organo metallic compound?
Eod =&&° D6 Doldch & ﬁﬁ:@%‘?ﬁm?

Options :

Na —NH,
1. %

C,Hs — Na
2. v

{‘WEHS — (O —Na
3. %

it

H-C-C—-Na

4. %

Question Number : 118 Question Id : 1525369505 Display Question Number : Yes Is Question
Mandatory : No

Lanthanides are separated best by

o =t "
oo D& 2T S50 DS

Options:

Ton exchange resins

odirs DVS0cHh BRSew
1.9



fractional crystallization

©ods SEEESmn

solvent extraction
[=sicd Qefpdee
3, %

complex formationusing EDTA

EDTA &s&G=hod) n.ouaz‘gﬂ* I B0
4, %

Question Number : 119 Question Id : 1525369506 Display Question Number : Yes Is Question
Mandatory : No

Which of the following alkyl halides would be the most reactive i an S}J reaction?

Bod 6B)6 HeGed® BRE S} 586 bl dordod LOR aolk,

L

Options :

CH,- (IZ.‘H —CH,-CH,Br

CH
1. % 3
CﬁHS —lli“HE_CH —CH2
Br
2. %

C H, CH, CH, CH, Br



| 3
£ :::.HS —C—Br

I

IC‘H3

Question Number : 120 Question Id : 1525369507 Display Question Number : Yes Is Question
Mandatory : No

Which of the followmng compounds gives dimethyl ketone on oxidation?
Bod =86’ D ShEsin ed¥dnin 5088 ERES LE° S0 alp®?

Options :

Butane - 2 - ol

88 -2 - 56
1% -

Butane - 1- ol

orrBe - 1- &6
2% ©

Propane - 2 - ol

(FHS -2- 4
3.¢

2 - Methyl butane - 2 - ol

2 - g8 aBS -2 - 48
4. % = Fi

Question Number : 121 Question Id : 1525369508 Display Question Number : Yes Is Question



Mandatory : No

The formation of cynohydrin from acetone and HCN 1s an example for
eR&S 280 HON e pahd® 388 D88 % dweirdn

Options :

Electrophillic addition
DO DOE Sokein

Electrofillic substitution
5)@;:[55 O ($agHcesm

=,

Nuc]eophjﬂjc addition

é:wﬂcﬁzv E YoXedsw
3.

Nucleophillic substitution
S BErHDE (HOFHeaso

Question Number : 122 Question Id : 1525369509 Display Question Number : Yes Is Question
Mandatory : No

Which of the following acids exhibit optical isomerism?

Bod eSred® D8 §E F&TR) (B85 0HEs?

Options :

Phenyl acetate acid

26 ©oHEE eHdm
- [z
1. ®



Acetyl salicylic acid

o2BS FOHE whdw

Mandelic acid

et OE wihsin
3.

Cmnamic acid
DKHHE wipsm

Question Number : 123 Question Id : 1525369510 Display Question Number : Yes Is Question
Mandatory : No

Nitration of benzene is reaction

BodS FEKS 38e
- (=)

Electrophillic substitution
DEHOE (HEZHE0
1.¢

Electrophillic addition

QuEHOE Sotedsn

Nucleophillic substitution

Wonmn Bl Dan B PR (94 Cmvi oL
ST (D600



Nucleophillic addition

Ko ETrROE So¥ersim

Question Number : 124 Question Id : 1525369511 Display Question Number : Yes Is Question
Mandatory : No

The transition(s) likely to take place on absorption of UV - light in carbonyl compounds

=636 Saygrer UV - 080 ER008p Soglod s858sin(e)
=

e

Options :

% &
o —=>0 . H—>T

T—>7

#
H—>T

* *
A —> . H—>T
4,

Question Number : 125 Question Id : 1525369512 Display Question Number : Yes Is Question
Mandatory : No

The radiation used i NMR spectra 1s
NMR $8 Hosingol abd@rnon ek
Options :
UV region

UV (Frossm

1. %



IR region

IR |frodsm
2. %

Radio frequency region

- BEGEe TP 9%y [Erossn

Visible light region
L tﬁeﬁfiﬁé =08 |Zrod5n

Question Number : 126 Question Id : 1525369513 Display Question Number : Yes Is Question
Mandatory : No

Two solutions with equal osmotic pressure are called
D (BTDd8e HisKEw Ko Bok [Trkre ©oer

Options :
Isotonic solutions

_— DB arBE (mrdoren

Hypertonic solutions

o8 (BdabE (e

Hypotonic solutions

o) (BadTds [Tsren
3. %

Normal sohitions

ol (ordoren
4. %



Question Number : 127 Question Id : 1525369514 Display Question Number : Yes Is Question
Mandatory : No

On mcreasing the dilution, the specific conductance
DOXBE DEN Fobd BY (Hairis

Options :
Zero
o

1. %

Increase
[ela bTa T

Decrease

3. %

Remains constant

BN doths
4, % @

Question Number : 128 Question Id : 1525369515 Display Question Number : Yes Is Question
Mandatory : No

The standard cell used in the experimental determiation of EMF ofa galvanic cell is
e 8 o EMF & @d@rmréSor AezBoibed ath aRecd sndon

Options :

1. %



Danieal cell
G0HS Doéodm

Leclanche cell

Sorod) g0sn
2. % '
Lead storage cell
86 Qer goeskn
3, %
Western cadmuium cell
0o 528008 Foeosimo
L'E..- [t
4. &

Question Number : 129 Question Id : 1525369516 Display Question Number : Yes Is Question
Mandatory : No

Freezing mixture is a mixture of
2Q0%8e Qo|Eokm oo

Options:
Metal and water

Skn S0bckn %
1. ®

Metal and ice

S5 LBk Sodh



Salt and ice

@Smesn 8o SHhoth

o

rganic compound and water

8 DanEdsin Sodain A%

Question Number : 130 Question Id : 1525369517 Display Question Number : Yes Is Question
Mandatory : No

Which ofthe following is a coordination compound?

Bod TES° b Drch [SanFdEn?

o =

Options :

| Co(NH;)6 | CLL

1.4

KCI.MgCl,.6H,0

2. %

K,80,.41,(50,).24H,0
3. %

F{? 504 ..4.?2 (JMH4)JSO4 6HEO
4, %

Question Number : 131 Question Id : 1525369518 Display Question Number : Yes Is Question
Mandatory : No



The magnetic suceptibility is determined by using
Clowtvplelopaioiottiy &5 Rod) Roebonsd.
Options:
Faraday balance
&80 Dodero

Gouy balance

Mmoo Poedo
2.

Chemical balance
Brch® Rodedo

Physical balance

FraX Soelo

Question Number : 132 Question Id : 1525369519 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is an imino acid?
Bod 86" 3B S efpsn?
Options:

Alanine
_— ©odS



Glycine
&=

O O
=
—

Prohne

Mandatory : No

Fimnd XY and Z respectively in the following reaction

X Y0800 Z © 3% (Eosned & (Bod $86:8° Hhomm.

CH,

NHO, Na,Cr,0, Heat 3&
- \ -K - - { \ -&--
- -~

HSO,A H,SO, —CO,

/
N

Options :

2.4.6 trinitro toluene. 2.4.6 - trinitro benzoic acids 1.3.5 - trinitro benzene

2 -mitro toluene. 2 - nitro benzoic acid & nitro benzene

-BlE° §°08. 2 - BE° BoFPonE e S F|E° Bods

Question Number : 133 Question Id : 1525369520 Display Question Number : Yes Is Question

24,6 83 &°05,2,4.6 - B3 BoFPont wifpin 8t 13,5 - BRI BodS

3"



2. 6 - dmitro toluene. 2. 6 - dinitro benzoic acid & 1.3 - dinitro benzene
2 -3RE° £°083. 2, 6 - BRIE° BosPonk epso H8c% 1.3 - BIE° TodS

3. 3

2.4 - dmitro toluene, 2. 4 - dmitro benzoic acid & 1.3 - dinitro benzene

2,4- BR&° &5, 2, 4- B3 Dosonk eshsn HBc 1.3 ZRE° TodS
4, %

Question Number : 134 Question Id : 1525369521 Display Question Number : Yes Is Question

Mandatory : No

Diazo coupling is useful to prepare

Sons® ¥20id 5 Scird kot SOIrATE.
Options :
Vitamins
- 5
L, D0DY
Proteins
2. %
dyes
Soszeen
3.
pesticides

S&the SHoen
4. %

Question Number : 135 Question Id : 1525369522 Display Question Number : Yes Is Question

Mandatory : No



The number ot pi and sigima bonds i a molecule of cyanogen are

Options :

3.4

h
(]

Lad
Ln

4.+

Question Number : 136 Question Id : 1525369523 Display Question Number : Yes Is Question

Mandatory : No

The heat content of the system is called

2.8 S0 @n¥) &l vodso LOLTED.

Options :
Enthalpy

ﬁomﬂi}“-.
1.4 -

Entropy
o\

3. %



Internal energy
Slelztel et

Free energy

roey S8
O % ==
Question Number : 137 Question Id : 1525369524 Display Question Number : Yes Is Question

Mandatory : No
The Joule - Thompson coefficient is defined as
™ Q8- LoBE®.

TSR MheeBsoko

Options :




Question Number : 138 Question Id : 1525369525 Display Question Number : Yes Is Question
Mandatory : No

The doped element belongs to which of the following periodic table groups in n - type
semiconductor

& (BoB & (e w8¥ HE¥ dredidn & Bod n- 859 ofeirdin
Options:

15
1.

Question Number : 139 Question Id : 1525369526 Display Question Number : Yes Is Question
Mandatory : No

2 . -
SN - reaction rate depends on the concentration of
¥ - i £
SN= Somg Béw RS oddid.
Options :

Substrate
Bl

Reagent

=rle = tuo)
2. %



Both Substrate & Reagent

|BaSornrd 50805 seEESen Botsei
3.¢¥

None

-

4 % o E‘&

Question Number : 140 Question Id : 1525369527 Display Question Number : Yes Is Question
Mandatory : No

Night blindness is due to the deficiency of

TOZE okss S50 Sod Senihds.
Options :
Vitamm B 12
H&L&S B,
1. % B
Vitanun A
De&nS A
2. ¢
Harmones
$FSoen
3, % o
Riboflavin
Qﬁ%&ﬁ



Question Number : 141 Question Id : 1525369528 Display Question Number : Yes Is Question
Mandatory : No

The second order rate constant is usually expressed as

r?- s & =X & 2
Grech LaimoX Béw ROOE0 FSnSnr ™ D).
Options :

mol I §71

s &l

mol L 8~

Zed & o]

Question Number : 142 Question Id : 1525369529 Display Question Number : Yes Is Question
Mandatory : No
Radio active dismtegration is an example of
[elalenx mﬂﬁéﬁ DL Hn 2 aedo
Options :
Zero order reaction

S (Eikrol S5
1. % o o



First order reaction

. 85 Bl ﬁ‘irﬁé

Second order reaction
&;é%ci‘o (ESro¥ 587

Third order reaction
é &ch (Bmo¥ “-’&

Question Number : 143 Question Id : 1525369530 Display Question Number : Yes Is Question
Mandatory : No

Which of the fo ]lDWﬂlE electronic transition s disallowed?
Bob TES° DB wHBoBE Jo|TOE HBSESH?

Options :

%
o —0

#
n—T

*
H—>

s "
0O —>0
4.



Question Number : 144 Question Id : 1525369531 Display Question Number : Yes Is Question
Mandatory : No

The emission of light from a body continues even when the source of exciting radiation
has been removed. This phenomenon is called as

a@aﬁeﬁ D&% Sroind Fofod dmrdsn Dob o8 Aodssn amrddn adivd. &

&
(3B Clelivget)

Options:

Phosphorescence

0% 8%
v 5T

Luminiscence

-~
Folelnke

2. &

FIHDIDSCE'HCE
o éx
3. %

None

4 % 58 =%

Question Number : 145 Question Id : 1525369532 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following heterocyclic compound is not aromatic?

Bod &S @ DD Lope Soch S EEHw o8 5rE =?
L=

Options :

1. &



Pyrrole

2658
Pyridine
2885

2. %
Piperidine
20865
3.¢
Furan
QFEU=E
4, %

Question Number : 146 Question Id : 1525369533 Display Question Number : Yes Is Question
Mandatory : No

Pyridine reacts with a mixture of HNO; and H, SO, at 300 °C to give
2845 HNO, &bcin H,S0, HEssns 300 °C 58 SGTod aRe.
Options:
4 - nitro pyridine

4 - JE° 2845
1. %

Pild

- nitro pyridine
- 31&° 2845

Pild

2.



2 - nitro pyridine

. 2-3& 2848
3. %

1 - nitro pyridine

1 - 3&° 2845
4, %

Question Number : 147 Question Id : 1525369534 Display Question Number : Yes Is Question
Mandatory : No

The formula of mono nuclear vanadium carbonyl is
2% So|B% B3&aho FYRS Tw¥) 8
Options:

V(CO)g

1.+

V(CO)s

V(CO)4

V(CO)s

Question Number : 148 Question Id : 1525369535 Display Question Number : Yes Is Question
Mandatory : No



Effective atomic number of cobalt n CO, (CO)g 18
CO,(CO)g & Ewrg 088 HBkrem oy,
Options :

18

Question Number : 149 Question Id : 1525369536 Display Question Number : Yes Is Question
Mandatory : No

Which of the following has minimum conformational energy?
(Bod =8¢° B8 odrsdd €8 oun?

Options :

n - butane fully eclipsed

n - 2088 o8 HEE

1. %
n - butane gauche
n - oer8S S

2. % 9

n - butane eclipsed

1 - 200e3s JBEE
i Ao

3. %



n - butane anti staggered
n - o8BS odrod K8
o [y o
4.+

Question Number : 150 Question Id : 1525369537 Display Question Number : Yes Is Question
Mandatory : No
A metal ligand complex composition is determined by

2% &) Brrol D8R Hosheasin % QueBoTBL.
-’ - W

Options :

Kirchoff’s method

-

—F oy
Eomay DG
T i Q

Job’s method

o) DS
2. ¥ s

Newton’s method
oﬁ?&&@ Sl T)
3. % v

Ostwald’s method
oS S8
4, % N



